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š







š
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!login()

?messageEvent(Message msg)

!logout()

!subscribe(Topic topic)
[loggedIn()]

!unsubscribe(Topic topic)
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f  ( T1     ) : R1

g  ( T2 ) : R2

≤ ≤



::= primitive_def | composite_def
::= component_type
     primitive_strct_def
     guards_def
     primitive_protocol
::= service_def+
::= service_type op_id formal_parameter_list? | op_id formal_parameter_list?
::= op_id formal_parameter_list?
::= 'required' | 'provided'
::= component_type

subcomponent_decl+
     composite_structural_def?
     connection_def+
::= component_type subcomponent_id
::= service_def+
::= bind_exp | export_exp | import_exp
::= subcomponent_op_id 'to' subcomponent_op_id
::= subcomponent_op_id 'as' op_id
::= op_id 'to' subcomponent_op_id

::= subcomponent_id '.' op_id

component_def
primitive_def

primitive_struct_def
service_def
guards_def
service_type 
composite_def

subcomponent_decl
composite_struct_def
connection_def
bind_exp
export_exp
import_exp

subcomponent_op_id

specification
process_def

process_body
choice
process_inst

special_process

action
receive_act
send_act
internal_act

formal_param_list
actual_param_list

::= process_def+
::= process_id formal_param_list process_body

::= choice+
::= action+ process_inst
::= process_id actual_param_list | special_process

::= STOP

::= receive_act | send_act | internal_act
::= action_id formal_param_list
::= action_id actual_param_list
::= action_id actual_param_list

::= param_type param_id | formal_param_list | ε
::= param_id | actual_param_list | ε



primitive component Client {
     interface
         provided messageEvent(Message msg);
         required login();
         required logout();
         required subscribe(Topic topic);
         required unsubscribe();

     guards
loggedIn();

     protocol
         P=!login -> P | !logout[!loggedIn()] -> P | !subscribe[!loggedIn()] -> Q,

Q= ?messageEvent -> Q | !unsubscribe() -> P.
}
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    





















 















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  


























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